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Recognise time to the hour
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Draw a line to match the clocks to the times.
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Draw a line to match the clocks to the times. Fluency and precision
Recognise time to the hour Answers 1
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Recognise time to the hour

Draw a line to match the clocks to the times.

Fluency and precision
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B Lee has matched this clock and time. Is he correct?
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Draw a line to match the clocks to the times.

Fluency and precision

Recognise time to the hour Answers 1
12 12 12
[ M gy, A \ [ LR UA \ f Moty A \
N\ /7, N /7, N\ /7,
10 ~2 103 Z2 10 ~2
°— ~ S 9= = 9— —3
- S ~ 3 - =
84// \\> 4 8 Z \\\4 84// \34
7N ';///HI\\\\\E S\
) ) ) )
[ 9 0’ clock ][ 12 o’ clock ] 4 0 clock ][ 7/ o clock
( 12 \ ( 12
1M1 0\, 1 \ ( 1M 0\, 1 LRSI
QG W s, \\\\\ ///// \\\\\ /////
109 2 103 ~ 2 103 ~2
9— —3 9— —3 9— —3
84//// \ D4 84//// \ 4 87 y \ 4
K 71\s ) k 71 \W\s ) 71 W\Ws

) ) ) )
[ 11 0’ clock ][ 2 o’ clock ] 5 o’ clock ][ 10 o’ clock
12 12 12

1M i, A Mg, 1M i,
\\\\ /7 "/, \\\\ // ’, \\\\ /,

N ~2 10 ~2 10 2

9— —3 9— —3 9— —3

86// v/ \\\34 84// // \\\\>4 86// "/ \\34
72711\ 7///1(|;\\\\5 7////r|\\\\\5

12 o’ clock 3 0’ clock 1 o’ clock 6 o’ clock
B Lee has matched this clock and time. Is he correct?
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No, because this time says 3 o’ clock.
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Draw a line to match the correct clocks to the times. Fluency and precision
Recognise time to the hour There are some incorrect times! Discuss why they are incorrect. 1
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Lz Lee has drawn this clock and matched it to this time. Is he correct?
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Draw a line to match the correct clocks to the times. Fluency and precision
Recognise time to the hour There are some incorrect times! Discuss why they are incorrect.
nswers 1
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Lee has drawn this clock and matched it to this time. Is he correct?
Discuss or write your answer.
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No, because the minute hand needs to be on the 12.

6 o’ clock
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